Homework 3

Thursday, April 19, 2018 9:08 AM

1 @ Skoco ‘H\o\'[' ZT_co’_l—_-‘{aq. Eoo ‘ O\’LGZE IS & S(Ajpr‘in%

@ S}\ow H’\ﬁ",‘ ‘H\e =?'!‘e\<l o£ 'Pmchbrns 0112 Z Ta] s
@E1= T arboes \ a,be @Y -

CHit. Use coZrw+i=0,; and COM’PU\"TQ (ot+bod) (a+ b33 )

cohere T = L}_‘FE’ - (Nobice oot = -1 and co6=i-))

2.@ Suppose R 15 & unital mmudadive ring . Prove thet <uy=R
i ond oly # ue TR
© Suppose D 15 an (rrlfeaml domain . Prove that
@y =<by « Fue UM s+ a=bu.

(i’rs_-l-.?or@), O\;Lu<\=> ‘l’ra-kocle,clucg uu’=i.)
biow

3. Su?\sose. CRl ond ‘Rg_ are Mm"['&l Commu-l-n‘l‘l've rl'has, o«nel I<I‘R|x12?_.
Prove that I= I‘XIZ For some Il<R\ and 19_4?;_.
(Ht. Suppose  (o¢y ,xy) e . Then (oci,qca).(i,k‘,ok?) eI )

4. Prove ot <2, x5 Z[x1 is nat o Trn'ncé‘:al ideal .
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Homework 3

Thursday, April 19, 2018 9:38 AM

(Hirk - Suppose o the Qon‘l'mra <Ry = <2,50. So
@ @
. hon =2 ond . 4o = for some hex, gmoe Z DA

. Qhat om You s«a about Hhe o‘egree. 0‘?- + tASI‘ha @I)?

. Shoed ‘?C'x') (N} e\"H\tr‘ 1 or x2 \As\‘n& @) .

. Using (T) deduce. o should be +1 ond geb o combrmdickion.)
5. (2 Find the mwainder o 1024 59037 divided lqu |
(b Fid the remander o} 102459097 divided L’Y) 11 .
() Comple 2/, in Z 2, 0 Z g, ond z/q in Z
( Jus‘i‘hey gowr awscrers | ond dond use laka dwision to Pind the
remainders.)
6. Let 2:Z2ri1_4Z,, fa+by=T82b ahr
X is the remainder o} o divded by 5 ond b is the
revainder o b divided bﬂ 5.
@ Pove that £ 5 @ ing hommorrhism.

©® Shiw that < -247> C ker +.
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